K_i OF UPPER TRIANGULAR MATRIX RINGS

R. KEITH DENNIS¹ AND SUSAN C. GELLER

ABSTRACT. Standard techniques are used to compute K_i (i = 0, 1, 2) of generalized triangular matrix rings.

For R an associative ring with unit, let T denote the ring of upper triangular 2 by 2 matrices over R. Quillen² has announced that $K_i(T) \approx K_i(R) \oplus K_i(R)$ for all $i \ge 0$. The purpose of this note is to give a proof of a generalization of this theorem for i = 0, 1, 2 using standard techniques. This generalization is probably true for the higher K's.

For R and S rings with unit and M an R-S-bimodule, let T denote the ring of all upper triangular matrices of the form

$$\begin{pmatrix} r & m \\ 0 & s \end{pmatrix}$$
, $r \in R, s \in S, m \in M$,

with addition and multiplication defined in the obvious way. We will prove the following:

THEOREM 1. For i = 0, 1, 2 the canonical map $K_i(T) \to K_i(R) \oplus K_i(S)$ is an isomorphism.

An induction argument yields

COROLLARY 2. Let T_n be the ring of upper triangular n by n matrices over the ring R. Then for $i = 0, 1, 2, K_i(T_n) \approx K_i(R)^n$.

1. The cases i=0, 1. Let J denote the ideal of T which consists of those matrices whose only nonzero entries lie in M. As $J^2=0$, J is contained in the Jacobson radical of T. Thus T is J-adically complete and the map $K_0(T) \to K_0(T/J)$ is an isomorphism [B, Proposition 1.3, p. 449]. This yields the result in case i=0.

Since the map $T \to T/J$ splits and $T/J \approx R \oplus S$, the exact sequence for an ideal yields

$$(1) 1 \to K_i(T,J) \to K_i(T) \to K_i(R) \oplus K_i(S) \to 1.$$

According to Swan [Sw, Theorem 2.1] $K_1(T,J) \approx 1 + J/W(T,J)$ where W(T,J) is the subgroup of T^* (the group of units of T) generated by all

Received by the editors March 6, 1975.

AMS (MOS) subject classifications (1970). Primary 18F25, 16A54, 13D15.

Key words and phrases. K_2 , K_1 , K_0 , algebraic K-theory, triangular matrix rings.

¹ Partially supported by NSF GP-40773X.

² Lecture given during the Conference on Algebraic K-theory, June 23–28, 1974, Oberwolfach, Federal Republic of Germany.

elements of the form $(1+jt)(1+tj)^{-1}$, $t \in T, j \in J$. But an arbitrary element of 1+J, $\begin{pmatrix} 1 & m \\ 0 & 1 \end{pmatrix}$, lies in W(T,J) as is seen by taking $t = \begin{pmatrix} 0 & 0 \\ 0 & 1 \end{pmatrix}$ and $j = \begin{pmatrix} 0 & m \\ 0 & 0 \end{pmatrix}$. Hence $K_1(T,J)$ is trivial and the result follows from exact sequence (1).

It should be noted that Swan's theorem is not really necessary. Upon observing that the diagonal elements of a matrix congruent to 1 modulo J are units, the usual process of row and column reduction together with the equation

$$\operatorname{diag}(1+j,1) = E_{12}(j)E_{21}(t)E_{12}(-j)E_{21}(-t)$$

yields the result.

2. The case i=2. Throughout this section unexplained notation will be that of [D-S1]. Let $a, b \in R$ be such that $1+ab \in R^*$. Note that $1+ba \in R^*$. For each pair of indices $\alpha = ij$, let $-\alpha$ denote the reversed pair, ji, and define

$$H_{\alpha}(a,b) = x_{-\alpha}(-b(1+ab)^{-1})x_{\alpha}(a)x_{-\alpha}(b)x_{\alpha}(-a(1+ba)^{-1}).$$

Denote by H(n, R) the subgroup of St(n, R) generated by all elements $H_{\alpha}(a, b)$. Note that $\varphi(H_{\alpha}(a, b)) = \text{diag}(u_1, \dots, u_n)$, where

$$u_i = 1 + ab,$$
 $u_i = (1 + ba)^{-1},$

and $u_k = 1$ for $k \neq i, j$. According to [D-S1, 8(a), p. 248] it follows that, for $H \in H(n, R), n \geq 3, \varphi(H) = \text{diag } (v_1, \dots, v_n),$

(2)
$${}^{H}x_{kl}(r) = x_{kl}(v_k r v_l^{-1}).$$

In particular, it follows that $K_2(n,R) \cap H(n,R)$ is central in St(n,R) for all $n \ge 3$.

Let J be any ideal contained in the Jacobson radical of the ring R and define H(n,J) to be the subgroup of H(n,R) generated by all elements $H_{\alpha}(a,b)$ where at least one of a, b lies in J. We define $K_2(n,J)$ to be the kernel of the map $K_2(n,R) \to K_2(n,R/J)$. The techniques of [St] and [S-D] applied to the case of an arbitrary ring R immediately yield the first part of the following theorem.

THEOREM 3. Let J be an ideal contained in the Jacobson radical of the ring R. Then $K_2(n,J) \subset H(n,J)$ for all $n \ge 3$. Consequently the maps $K_2(n,J) \to K_2(n+1,J) \to K_2(J)$ are surjective for all $n \ge 2$.

The proof of surjectivity and the proof of Theorem 1 depend on certain identities in H(n, R) listed below. Throughout this section we write $\alpha = ij$, $\beta = jk$, and $\gamma = ki$ for distinct integers i, j, k.

LEMMA 4. The following identities are valid in St(n, R):

(i) If $H \in H(n, R)$ is such that $\varphi(H) = \operatorname{diag}(v_1, \dots, v_n)$, then for $n \ge 3$,

$${}^{H}H_{\alpha}(a,b) = H_{\alpha}(v_{i}av_{j}^{-1}, v_{j}bv_{i}^{-1}).$$

(ii) If $n \ge 2$, then

$$H_{\alpha}(a,b) = H_{-\alpha}(-b,-a)^{-1}.$$

(iii) If $n \ge 3$, then

$$H_{\alpha}(a_1 + a_2, b) = H_{\alpha}(a_2, b(1 + a_1 b)^{-1})H_{\alpha}(a_1, b)$$

and

$$H_{\alpha}(a,b_1+b_2)=H_{\alpha}(a,b_1)H_{\alpha}(a(1+b_1a)^{-1},b_2).$$

(iv) If $n \ge 3$, then

$$H_{\alpha}(a,bc)^{-1}H_{\beta}(b,ca)^{-1}H_{\gamma}(c,ab)^{-1}=1.$$

(v) If $n \ge 3$, then

$$H_{\alpha}(a,b) = H_{-\alpha}(b, -a(1+ba)^{-1})$$

and

$$H_{\alpha}(a,b) = H_{\alpha}(a(1+ba)^{-1},-b)^{-1}.$$

Identity (i) is immediate from equation (2). The proofs of (ii)–(iv) involve writing certain expressions in the unique LHU form of Stein as in [St, Lemma 2.7] or [S-D, Proposition 1.1]. This is accomplished with the aid of the formula

$$x_{\alpha}(a)x_{-\alpha}(b) = x_{-\alpha}(b(1+ab)^{-1})H_{\alpha}(a,b)x_{\alpha}(-aba(1+ba)^{-1})$$

when $1 + ab \in R^*$.

To prove (ii) put the left and right sides of

$$x_{\alpha}(a)x_{-\alpha}(b) = x_{-\alpha}(b)(x_{-\alpha}(-b)x_{\alpha}(-a))^{-1}x_{\alpha}(-a)$$

in the LHU form. The first part of (iii) is obtained similarly by considering

$$x_{\alpha}(a_1+a_2)x_{-\alpha}(b) = x_{\alpha}(a_2)x_{\alpha}(a_1)x_{-\alpha}(b).$$

Note that we must assume that $n \ge 3$ in order to apply (2) to put the right-hand side in the LHU form. The second part of (iii) is obtained from the first part by applying (ii), taking inverses and renaming.

Part (iv) is obtained by using the Philip Hall identity

$$y[x, [y^{-1}, z]]^{z}[y, [z^{-1}, x]]^{x}[z, [x^{-1}, y]] = 1$$

with $x = x_{\alpha}(a)$, $y = x_{\beta}(b)$, and $z = x_{\gamma}(c)$. The expression is then simplified using the Steinberg relations and (2) with the final step an application of (ii). For an outline of the computation see [D-S2, Proposition 1.1] (cf. [Sw, Lemma 7.7]).

To prove the first part of (v), note that, if $n \ge 3$, then

$$H_{\alpha}(a,b)x_{-\alpha}(b(1+ab)) = x_{-\alpha}(b(1+ab)^{-1}),$$

and hence

$$H_{\alpha}(a,b) = x_{-\alpha}(b(1+ab)^{-1})H_{\alpha}(a,b)x_{-\alpha}(-b(1+ab))$$

= $H_{-\alpha}(b, -a(1+ba)^{-1}).$

The last equality follows from the definition of H_{α} after one simplifies the preceding expression. The second part of (v) follows from the first by an application of (ii).

LEMMA 5. Let J be an ideal contained in the Jacobson radical of the ring R. Then for all $n \ge 2$

- (a) the map $K_2(n,R) \cap H(n,R) \rightarrow K_2(n+1,R) \cap H(n+1,R)$ is surjective and
 - (b) the map $K_2(n,J) \cap H(n,J) \to K_2(n+1,J) \cap H(n+1,J)$ is surjective.

By taking c = 1 and k = 1 in (iv) and applying (i) we obtain

$$H_{ii}(a,b) = H_{i1}(b,a)^{-1}H_{1i}(1,ab)^{-1} = H_{1i}(-a,-b)H_{1i}(1,ab)^{-1}.$$

Thus elements of the form $H_{lj}(a,b)$ generate H(n+1,R). By applying (i) we see that any $z \in H(n+1,R)$ can be written as $z=z_2\cdots z_{n+1}$ where z_j is a product of elements of the form $H_{lj}(a,b)^{\pm 1}$. Thus if $z\in K_2(n+1,R)\cap H(n+1,R)$, we have $\varphi(z)=1$. Hence $\varphi(z_j)=\mathrm{diag}(u_1,\ldots,u_{n+1})$ where $u_i=1$ for $2\leqslant i\leqslant n+1$. If j>2, then $z_jw_{2j}(1)=w_{2j}(1)$ by equation (2) and hence $z_j=w_{2j}(1)z_j$. Now by [Mi, Corollary 9.4] it follows that z_j , and hence z_j is a product of elements of the form $H_{l2}(a,b)^{\pm 1}$. These elements clearly lie in the image of $K_2(2,R)\cap H(2,R)$, proving the first assertion. The proof of the second is analogous. This also yields the second part of Theorem 3.

We now proceed to the proof of Theorem 1 in the case i=2. For all $n \ge 3$, $K_2(n,)$ preserves finite products, and thus there is a short exact sequence as in (1). We thus need only show that $K_2(n,J)$ is trivial for all $n \ge 3$. For the rest of this section, let $n \ge 3$. By Theorem 3 we may assume that the elements of $K_2(n,J)$ are products of elements of the form $H_{12}(a,b)^{\pm 1}$ and $H_{21}(a,b)^{\pm 1}$ where one of a,b is in J. Note that by the second equation of (v) we may assume that the exponent is +1, and by the first equation of (v) we may assume that only the $H_{12}(a,b)$ occur. Let e_1 and e_2 denote the images in T of the identity elements of R and S, respectively. Then any element of T may be written uniquely as $re_1 + se_2 + j$, $r \in R$, $s \in S$, $j \in J$. First note that if $j, j' \in J$, then an application of (iv) using a = j', $b = e_1$, c = j yields

(3)
$$H_{\alpha}(j',j) = 1$$
 for any α .

Now by applying (iii) twice and (3) once we obtain

(4)
$$H_{\alpha}(re_1 + se_2 + j', j) = H_{\alpha}(re_1, j)H_{\alpha}(se_2, j) \quad \text{for any } \alpha.$$

A similar equation is valid in case the variables are switched.

By applying (iv) with $a = re_1$, b = j, $c = e_2$, we obtain

$$H_{\alpha}(re_1,j) = H_{\gamma}(e_2,rj)^{-1}$$

and with $a = e_1$, b = rj, $c = e_2$, we obtain

(5)
$$H_{\alpha}(e_1, rj) = H_{\gamma}(e_2, rj)^{-1}.$$

These two equations yield

$$(6) H_{\alpha}(re_1,j) = H_{\alpha}(e_1,rj)$$

and similarly one obtains

(7)
$$H_{\alpha}(se_2,j) = H_{\alpha}(e_2,js).$$

We can thus rewrite equation (4) as

(8)
$$H_{\alpha}(re_1 + se_2 + j', j) = H_{\alpha}(e_1, rj) H_{\alpha}(e_2, js).$$

As before, a similar result holds when the variables are switched. Also by applying the second part of (iii) we obtain

(9)
$$H_{\alpha}(e_i,j+j') = H_{\alpha}(e_i,j)H_{\alpha}(e_i,j').$$

Applying (i), (iii) and (3) shows that

(10)
$$[H_{\alpha}(e_1,j), H_{\alpha}(e_2,j')] = 1.$$

Taking r = 1 in (5) and applying (6) and (ii) yields

$$H_{\alpha}(e_1,j) = H_{\gamma}(e_2,j)^{-1} = H_{\gamma}(-e_2,-j)^{-1} = H_{-\gamma}(j,e_2).$$

Next, (2) shows that $H_{-\gamma}(j,e_2)w_{\beta}(1) = w_{\beta}(1)$ and thus using [Mi, Corollary 9.4],

$$H_{-\nu}(j,e_2) = {}^{w_{\beta}(1)}H_{-\nu}(j,e_2) = H_{\alpha}(j,e_2)$$

which yields

(11)
$$H_{\alpha}(e_1,j) = H_{\alpha}(j,e_2).$$

Similarly one obtains

(12)
$$H_{\alpha}(e_2,j) = H_{\alpha}(j,e_1).$$

To complete the proof that $K_2(n,J)$ is trivial, observe that by (8) we may assume that any element of $K_2(n,J)$ is a product of elements of the form $H_{12}(e_1,j)$, $H_{12}(e_2,j)$, $H_{12}(j,e_1)$, and $H_{12}(j,e_2)$. By (11) and (12) we may omit the last two of these. By (10) we can collect the elements of the two types, and by (9) we can combine them. Hence we may assume that any element of $K_2(n,J)$ is of the form $H_{12}(e_1,j_1)H_{12}(e_2,j_2)$. Upon applying φ we must obtain 1 and thus $j_1 = j_2 = 0$. Hence $K_2(n,J)$ is trivial, completing the proof of Theorem 1.

REFERENCES

[B] H. Bass, Algebraic K-theory, Benjamin, New York and Amsterdam, 1968. MR 40 #2736. [D-S1] R. K. Dennis and M. R. Stein, The functor K_2 : A survey of computations and problems, Lecture Notes in Math., vol. 342, Springer-Verlag, Berlin and New York, 1973, pp. 243-280.

[D-S2] \longrightarrow , K_2 of discrete valuation rings, Advances in Math. 18 (1975), 182–238.

[Mi] J. Milnor, Introduction to algebraic K-theory, Ann. of Math. Studies, no. 72, Princeton Univ. Press, Princeton, N.J., 1971.

[ST] M. R. Stein, Surjective stability in dimension 0 for K_2 and related functors, Trans. Amer. Math. Soc. 178 (1973), 165–191. MR 48 #6267.

[S-D] M. R. Stein and R. K. Dennis, K_2 of radical ideals and semi-local rings revisited, Lecture Notes in Math., vol. 342, Springer-Verlag, Berlin and New York, 1973, pp. 281-303.

[Sw] R. G. Swan, Excision in algebraic K-theory, J. Pure Appl. Algebra 1 (1971), 221-252. MR 46 #7354.

DEPARTMENT OF MATHEMATICS, CORNELL UNIVERSITY, ITHACA, NEW YORK 14853 (Current address of R. Keith Dennis)

Current address (Susan C. Geller): Department of Mathematics, Purdue University, West Lafayette, Indiana 47907